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SECTION<¢9(4O MARKS)

. . 4 L .
Answer all questions in s section in the spaces provided.

Q
1. The diagram below shows sg}ﬁ%ce view of a human brain.
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o
(b) State the function of the structure labeled S. (Imk)
@
Q
...................................... \er
(c) Explain why xylem isame@?‘anical tissue. (2mks)
Q
............................. et et e
&
........................ PP
(d) (i) State the e@‘%f of removal of the cell labeled T. (Imk)
.............. N ettt e et
\

(i) Gi¥€ a reason for your answer in (a) above. (Imk)
.Q%Q‘f’ ...................................................................................................
3. (a) Bame two disorders in human caused by gene mutation (2mks)

13

N4
ke et e

&
BT
% (b) Describe the following chromosomal mutations:
2

@* (i) Inversion (2mks)
QO* ............................................................................................................
(i) Translocation (2mks)

(¢) In mice the allele for black fur is dominant to the allele for brown fur. What
percentage of offspring would have brown fur form a cross between heterozygous
black mice? Show working. Use letter B to represent the allele for black colour.

(4mks)



@ Vg@i?:h part marked a, b, c and d, when defective after implantation may lead

N o abortion. (1mk)
Q‘a‘%. ........................................................................................................
{-@ (i) Give a reason for your answer. (Imk)
2
Q&e .........................................................................................................
(@
&@ (b) The part labeled b can be removed after 4 months of pregnancy without
QO

interfering with the pregnancy. Explain. (2mks)

(c) Under each of the following, state the name of the causative agent.
(i) Syphillis (1mk)

(~ Semipermeable Membrane

Solution B

Sugar Molecule




o
o
(b) Which solution is more con(:entrate&efé> (Imk)
.......................................... Q@QQJ
"
(c) In which direction will osmogb? take place? Indicate using an arrow (Imk)
Q
&
ol
(d) What does semi-pa(me’eable membrane represent in an animal cell (Imk)
N
R PR
\3
(e) Name _t{w,g processes in living organisms that depend on osmosis. (2mks)
2

...... -+ ¢t et et et et en et e en e ee e en e ee e en e eeeen e eeeen e een e aan s

\.Q‘b.
Q‘.a‘cg ..........................................................................................................
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SECTION B — 40 MARKS

% Answer guestion 6 (Compulsory) and any other one question from this section.

6. During germination and growth of a cereal, the dry weight of endosperm, the embryo

and total dry weight were determined at two-day intervals. The results are shown in

the table below.

Time after planting Dry weight of | Dry weight of | Total dry
endosperm embryo (mg) | weight (mg)
0 43 2 45
2 40 2 42
4 33 7 40
6 20 17 37
8 10 25 35
10 6 33 39

(a) Using the same axes, draw graphs of dry weight of endosperm, embryo and the

total dry weight against time.

(b) What is the total dry weight on day 5?

(8mks)
(1mk)

(c) Account for:

(i) Decrease in dry weight for endosperm from day 0 to 10.
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o
(iii) Decrease in total dry weight fro&rza‘day 0 to day 8 (2mks)
&
.................................... QB
%\,
.............................. B et e e e e e e e e e
R
(iv) Increase in total dr%@?eight after day 8. (Imk)
............... §\x®
(d) State one cayge of dormancy: (2mks)
\3
(i) Withig a seed
R
..... Q‘b.
{gh} Outside the seed
N4
e
e?.b Explain the role of human skin in:
Q
% (a) Thermo regulation. (14mks)
2
@* (b) Protection (6mks)
Qo‘ 8. Explain various ways in which fruits and seeds are adapted to dispersal. (20mks)
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